Village of Morton Grove, Cook County, Ilinois GATEWAY PLAZA IMPROVEMENTS PROJECT

Bid Tabulation Engineer's Estimate AGAE Contractors, INC. Alliance Contractors Inc. Bid Opening: JUNE 18, 2024, 10:00 A.M. 189 Grordon Street 1166 Lake Avenue Elk Grove Village, IL 60007 Woodstock, IL 60098 CODED PAY ITEM NO. PAY ITEM DESCRIPTION **UNIT QUANTITY UNIT COST ITEM COST UNIT COST ITEM COST UNIT COST** ITEM COST PAY ITEM TREE PROTECTION FENCE **FOOT** 500 \$8.00 \$4,000.00 \$8.06 \$4,030.00 \$5.60 \$2,800.00 2 44000200 DRIVEWAY PAVEMENT REMOVAL SQ YD 58 \$21.00 \$1,218.00 \$63.86 \$3,703.88 \$20.00 \$1,160.00 44000500 COMBINATION CURB AND GUTTER REMOVAL **FOOT** 3 10 \$31.00 \$310.00 \$20.46 \$204.60 \$15.00 \$150.00 44000600 SIDEWALK REMOVAL 1.276 SQ FT \$2.35 \$2,998.60 \$5.01 \$6,392.76 \$3.00 \$3,828.00 5 BRICK PAVER REMOVAL SQ FT 840 \$4.00 \$3,360.00 \$4.34 \$3,645.60 \$3.00 \$2,520.00 20200100 CU YD 6 EARTH EXCAVATION 178 \$123.00 \$21,894.00 \$244.28 \$43,481.84 \$10.00 \$1,780.00 SQ YD 7 42300400 PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8" 20 \$158.00 \$259.16 \$9,332.00 \$3,160.00 \$5,183.20 \$466.60 8 42400200 PORTLAND CEMENT CONCRETE SIDEWALK 5" SQ FT 2,619 \$40,594.50 \$77,941.44 \$15.50 \$29.76 \$34.65 \$90,748.35 9 20201200 REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL CU YD 50 \$135.00 \$6,750.00 \$163.68 \$8,184.00 \$15.00 \$750.00 FOOT \$15,868.80 10 CONCRETE RIBBON CURB 228 \$42.00 \$9,576.00 \$44.64 \$10,177.92 \$69.60 11 **FOOT** 90 \$63.24 \$5,691.60 RAISED CURB PLANTER, 6" HIGH (CENTER PLANTER) \$42.00 \$3,780.00 \$69.60 \$6,264.00 12 TEMPORARY WASHOUT BASIN **EACH** \$750.00 1 \$1,855.00 \$1,855.00 \$1,550.00 \$1,550.00 \$750.00 13 28000400 PERIMETER EROSION BARRIER FOOT 282 \$5.00 \$1,410.00 \$18.60 \$5,245.20 \$5.00 \$1,410.00 60603800 COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 **FOOT** 10 \$77.40 \$774.00 \$68.20 \$682.00 \$188.00 \$1,880.00 14 SQ FT 15 PAVER PLAZA OVER GRAVEL BASE 1,254 \$18.75 \$23,512.50 \$34.41 \$43,150.14 \$35.00 \$43,890.00 16 BENCH (INSTALL ONLY) **EACH** 3 \$600.00 \$1,800.00 \$1,450.80 \$4,352.40 \$795.00 \$2,385.00 2 \$2,814.80 \$5,629.60 \$1,590.00 17 BICYCLE RACK (INSTALL ONLY) **EACH** \$600.00 \$1,200.00 \$795.00 18 TRASH AND RECYCLING RECEPTACLE (INSTALL ONLY) **EACH** \$600.00 \$1,202.80 \$1,202.80 \$795.00 \$795.00 1 \$600.00 19 REBOUND POSTS **EACH** 3 \$1,425.00 \$930.00 \$2,790.00 \$250.00 \$750.00 \$475.00 20 56109210 WATER VALVES TO BE ADJUSTED **EACH** 1 \$387.00 \$387.00 \$3,720.00 \$3,720.00 \$475.00 \$475.00

Village of Morton Grove, Cook County, Ilinois GATEWAY PLAZA IMPROVEMENTS PROJECT

Bid Tabulation

Bid Opening: JUNE 18, 2024, 10:00 A.M. 189 Grordon Street 1166 Lake Avenue Elk Grove Village, IL 60007 Woodstock, IL 60098 CODED PAY ITEM NO. PAY ITEM DESCRIPTION **UNIT QUANTITY UNIT COST ITEM COST UNIT COST ITEM COST UNIT COST** ITEM COST PAY ITEM 21 56400300 FIRE HYDRANTS TO BE ADJUSTED **EACH** \$3,500.00 \$3,500.00 \$4,340.00 \$4,340.00 \$3,600.00 \$3,600.00 60205605 **EACH** 1 22 CATCH BASINS, TYPE A, 5'-DIAMETER \$10,032.12 \$10,032.12 \$66,836.00 \$66,836.00 \$9,850.00 \$9,850.00 23 60255500 MANHOLES TO BE ADJUSTED **EACH** 2 \$300.00 \$600.00 \$620.00 \$1,240.00 \$500.00 \$1,000.00 24 28000510 INLET FILTERS **EACH** 6 \$325.00 \$1,950.00 \$409.20 \$2,455.20 \$25.00 \$150.00 25 SOIL PREPARATION, LANDSCAPE EXCAVATION AND BACKFILL CU YD 93 \$9,114.00 \$122.76 \$11,416.68 \$80.00 \$7,440.00 \$98.00 26 TOPSOIL CU YD 93 \$95.00 \$8,835.00 \$84.32 \$7,841.76 \$95.00 \$8,835.00 **CU YD** 27 MULCH, SHREDDED HARDWOOD (NEW PLANTINGS) 19 \$75.00 \$1,425.00 \$101.68 \$1,931.92 \$75.00 \$1,425.00 28 MULCH, SHREDDED HARDWOOD (EXISTING TREES) CU YD 2 \$75.00 \$150.00 \$101.68 \$203.36 \$75.00 \$150.00 7 29 SOIL AMENDMENTS CU YD \$300.00 \$1,950.00 \$89.28 \$580.32 \$300.00 \$1,950.00 30 SOIL AMENDMENTS (WITHIN CURBED PLANTER) CU YD 1 \$355.00 \$355.00 \$89.28 \$89.28 \$355.00 \$355.00 SOD LAWNS SQ YD 105 31 \$30.00 \$3,150.00 \$14.88 \$1,562.40 \$30.00 \$3,150.00 32 2 \$775.00 \$1,550.00 \$1,670.00 PICEA GLAUCA 'DENSATA'. BLACK HILLS SPRUCE 6' HIGH **EACH** \$835.00 \$1,670.00 \$835.00 33 2 \$2,380.00 \$930.00 \$1,860.00 \$1,190.00 \$2,380.00 PICEA GLAUCA 'DENSATA', BLACK HILLS SPRUCE 8' HIGH **EACH** \$1,190.00 2 \$1,600.00 34 MALUS X 'RED JEWEL'. RED JEWEL CRABAPPLE. 6' HIGH **EACH** \$800.00 \$1,600.00 \$713.00 \$1,426.00 \$800.00 MALUS X 'ROYAL RAINDROPS', ROYAL RAINDROPS **EACH** 1 \$935.00 35 \$935.00 \$713.00 \$713.00 \$835.00 \$835.00 CRABAPPLE, 6' HIGH ARONIA ARBUTIFOLIA 'BRILLIANTISSIMA', BRILLIANT RED **EACH** 12 36 \$103.00 \$1,236.00 \$74.40 \$892.80 \$103.00 \$1,236.00 CHOKEBERRY, 36" CORNUS SERICEA 'ISANTI', ISANTI REDTWIG DOGWOOD, 36" 3 37 **EACH** \$104.00 \$312.00 \$74.40 \$223.20 \$104.00 \$312.00 **EACH** 4 38 ROSA, X 'AMERICAN BEAUTY, 36" \$98.00 \$392.00 \$74.40 \$297.60 \$185.00 \$740.00 VIBURNUM CARLESII 'COMPACTUM', DWARF KOREANSPICE **EACH** 3 39 \$196.00 \$588.00 \$130.20 \$390.60 \$196.00 \$588.00 VIBURNUM, 36" VIBURNUM DENTATUM 'BLUE MUFFIN', BLUE MUFFIN 40 **EACH** 4 \$106.00 \$424.00 \$93.00 \$372.00 \$106.00 \$424.00 VIBURNUM, 36" VIBURNUM DENTATUM 'SYNNESVEDT', CHICAGO LUSTER **EACH** 2 \$218.00 \$93.00 \$109.00 \$218.00 41 \$109.00 \$186.00 VIBURNUM, 36"

Engineer's Estimate

AGAE Contractors, INC.

Alliance Contractors Inc.

Village of Morton Grove, Cook County, Ilinois GATEWAY PLAZA IMPROVEMENTS PROJECT

Bid Tabulation Bid Opening: JUNE 18, 2024, 10:00 A.M.					Engineer's Estimate		AGAE Contractors, INC. 189 Grordon Street Elk Grove Village, IL 60007		Alliance Contractors Inc. 1166 Lake Avenue Woodstock, IL 60098	
PAY ITEM NO.	CODED PAY ITEM	PAY ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
42		ROSA 'MEISWETDOM', SWEET DRIFT GROUNDCOVER ROSE, #3 CONT.	EACH	7	\$89.00	\$623.00	\$74.40	\$520.80	\$89.00	\$623.00
43		SPIRAEA BUMALDA 'GOLDFLAME', GOLDFLAME SPIREA, 5 GAL./24"	EACH	12	\$89.00	\$1,068.00	\$74.40	\$892.80	\$89.00	\$1,068.00
44		WEIGELA FLORIDA 'MIDNIGHT WINE', MIDNIGHT WINE WEIGELA, 5 GAL./24"	EACH	5	\$97.00	\$485.00	\$74.40	\$372.00	\$97.00	\$485.00
45		SESLERIA AUTUMNALIS, AUTUMN MOOR GRASS, 1 GAL.	EACH	14	\$19.00	\$266.00	\$24.80	\$347.20	\$19.00	\$266.00
46		SPOROBOLUS HETEROLEPSIS, PRAIRIE DROPSEED, 1 GAL.	EACH	69	\$19.00	\$1,311.00	\$24.80	\$1,711.20	\$19.00	\$1,311.00
47		ALLIUM X 'MILLENIUM', MILLENIUM ORNAMENTAL ONION, 1 GAL.	EACH	21	\$18.00	\$378.00	\$24.80	\$520.80	\$18.00	\$378.00
48		EUPATORIUM PURPUREUM 'FLOREUPRE1', EUPHORIA RUBY JOE PYE WEED, 1 GAL.	EACH	26	\$21.00	\$546.00	\$24.80	\$644.80	\$21.00	\$546.00
49		GERANIUM SANGUINEUM 'MAX FREI', MAX FREI CRANESBILL, 1 GAL.	EACH	26	\$18.00	\$468.00	\$24.80	\$644.80	\$18.00	\$468.00
50		IRIS SIBERICA 'CEASAR'S BROTHER', CEASAR'S BROTHER SIBERIAN IRIS, 1 GAL.	EACH	20	\$19.00	\$380.00	\$24.80	\$496.00	\$19.00	\$380.00
51		NEPETA FAASSENII 'KIT KAT', KIT KAT CATMINT, 1 GAL.	EACH	17	\$19.00	\$323.00	\$24.80	\$421.60	\$19.00	\$323.00
52		SEDUM, FLAT	EACH	17	\$75.00	\$1,275.00	\$124.00	\$2,108.00	\$100.00	\$1,700.00
CORRECTED TOTAL PROPOSAL AMOUNT					\$188,543.72		\$352,047.10		\$244,582.15	
	AS-RE			\$352,036.00		\$244,582.15				

Apparent Low Bidder: Alliance Contractors Inc.
Apparent Low Bid Amount: \$244,582.15
Engineer's Estimate of Cost: \$188,543.72 Difference: \$56,038.43

Bid Tabulation Engineer's Estimate AGAE Contractors, INC. Alliance Contractors Inc. Bid Opening: JUNE 18, 2024, 10:00 A.M. 189 Grordon Street 1166 Lake Avenue Elk Grove Village, IL 60007 Woodstock, IL 60098 **CODED UNIT COST** ITEM COST PAY ITEM NO. **UNIT COST** PAY ITEM DESCRIPTION UNIT **QUANTITY ITEM COST UNIT COST** ITEM COST **PAY ITEM** Alternate Bid Items (item costs in table below will not be evaluated in the determination of the lowest bid, but will be added to the contract award at the option of the Village) 53 ALTERNATE: VEHICULAR GATE - ORNAMENTAL STEEL, 4' HIGH EACH 1 \$9,544.00 \$9,544.00 \$17,050.00 \$17,050.00 \$14,395.00 \$14,395.00 ALTERNATE: PEDESTRIAN GATE - ORNAMENTAL STEEL, 4' 54 **EACH** 1 \$1,440.00 \$1,440.00 \$6,820.00 \$6,820.00 \$2,095.00 \$2,095.00 ALTERNATE: FENCE - ORNAMENTAL STEEL - FURNISH & LF 112 55 \$102.00 \$11,424.00 \$122.62 \$13,733.00 \$196.35 \$21,991.20 INSTALL (4' HIGH - South Property Line) ALERNATE: PERMANENT IRRIGATION (turf & plantings - per Vill. 56 **EACH** 1 \$60,000.00 \$80,600.00 \$80,600.00 \$80,755.00 \$80,755.00 \$60,000.00 water tap location) 57 ALERNATE: PEDESTRIAN POST LIGHT **EACH** 3 \$11,000.00 \$33,000.00 \$19,426.67 \$58,280.00 \$24,495.00 \$73,485.00 58 ALERNATE: FEATURE UP-LIGHT **EACH** 1 \$920.00 \$920.00 \$16,120.00 \$16,120.00 \$11,815.00 \$11,815.00 ALERNATE: UNDERGROUND CONDUIT, COILABLE 81028220 227 59 **FOOT** \$908.00 \$177.93 \$40,390.52 \$4.00 \$70.25 \$15,946.75 NONMETALLIC CONDUIT, 1" DIA. ALERNATE: UNDERGROUND CONDUIT, GALVINIZED STEEL, 3" 60 **FOOT** 155 \$60.00 \$9,300.00 \$375.55 \$24,877.50 \$58,201.88 \$160.50 8100730 **EACH** 2 61 ALERNATE: HANDHOLE, COMPOSITE CONCRETE \$720.00 \$1,440.00 \$4,960.00 \$9,920.00 \$6,930.00 \$13,860.00 ALERNATE: ELECTRIC CABLE IN CONDUIT, 600 V (XLP-TYPE 62 81028720 **FOOT** 750 \$2.00 \$1,500.00 \$34.72 \$26,040.00 \$11.65 \$8,737.50 USE) 2-1/C NO. 10, 1/C NO. 10 GROUND 63 ALERNATE: MODIFY EXISTING LIGHTING CONTROLLER **EACH** 1 \$510.00 \$6,200.00 \$6,200.00 \$11,635.00 \$510.00 \$11,635.00 64 89502376 ALERNATE: REBUILD EXISTING HANDHOLE **EACH** 1 \$1,200.00 \$1,200.00 \$3,720.00 \$6,200.00 \$12,895.00 \$12,895.00